
Online Chapter 3 Review 

1. Given: f(x) = xzZ_295 ~ &. t-3)(.xi-s') 
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a) Find the x-intercept b) Find they-intercept c) Find the vertical asymptote(s) 

() .... x 2 -9 ~.:::. oz-'l - -:J__ ;;i._ X;;it ~::=-Qi X := ±I~ 
0 ~ X t-3,)(;<- s) :;2(o ZS" - .2S- ;2.'1-~ c;. -:ZS- . . 

f. z_""' _.2..S IM 111c>~ 

(0, -}~ ~ r10 r.eal 
v. ,4.d) Find the horizontal asymptote e) Sign Chart f) Graph 

0 

£ t- ! - 0 

+ :j) 
-3 +· t---·- +·-

3 ----+ 
-t ~ 

a) Find the x-intercept b) Find they-intercept c) Find the vertical asymptote(s) 

0 :::- >( 0 0 x2 +-z)(.r/ :;;.O~ "' o"£F'uo) t- I ""' 1 
· (_ )<. f- I){)(.-t-1 -;::;. 0 

X- :::- I~ Lfo, oiJ -

d) Find the horizontal asymptote e) Sign Chart f) Graph 

l l\ 0 

j"--£ -- .l < - I - I 
~ X -, 0 - .±

A-s x~ovJ j~o --·- -t--.+ -t·t 

A-s x ~ - tJO , '.J -=-;D 

tfA-: [3 ~] 



. I;:),:, 3x2-11x-4 (3)(.+- r)& - 'D 
3. Given: 4x'-zs = (;ixt~Y,;i_x -~) 
a) Find the x-intercept l\ 
o -;. C3.x +-i) C><-4.J 

3ll-f-/ -:::.-O :
?,x::--1 c--:; ,o) 
.x"'"-~ I{ o) 

d) Find the horizontal asymptote 
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4. Find the product or quotient and state the domain. 

5. Find the sum or difference. 
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